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Question Number : 1 Question Id : 7108705821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following crops is a commercial crop in Punjab and Haryana but is a

subsistence crop in Orissa?

1. Tea

2. Cotton

3. Rubber

4. Rice
Options :
71087023281. 1
71087023282. 2

71087023283. 3
71087023284. 4

Question Number : 2 Question Id : 7108705822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following are the two most important wheat-growing zones of the country?
A. Ganga-Satluj plains in the north-west

B. Deltaic regions

C. Black soil region of the Deccan

D. Plains of north-east

Choose the correct answer from the options below:

1. Only A and B
2.0nly B and C
3.0nlyCand D
4.OnlyAand C
Options :
71087023285. 1
71087023286. 2
71087023287. 3
71087023288. 4

Question Number : 3 Question Id : 7108705823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Indian agriculture is typically characterized as

1. Land surplus, labour scarce economy
2. Land surplus, labour surplus economy
3. Land scarce, labour surplus economy
4. Land scarce, labour scarce economy
Options :

71087023289. 1
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71087023290. 2
71087023291. 3
71087023292. 4

Question Number : 4 Question Id : 7108705824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following countries is the main rival of India in tea export?

1. China

2. Japan

3. Germany

4. Sri Lanka
Options :
71087023293. 1
71087023294. 2
71087023295. 3
71087023296. 4

Question Number : 5 Question Id : 7108705825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement A: MSP is declared by the government every year to provide incentives to the
farmers for raising the production of crops.

Statement B: Buffer stock is created to distribute food grains in the deficit areas and among
the poorer strata of the society at the lower price than the market price.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement A and Statement B are correct

2. Both Statement A and Statement B are incorrect

3. Statement A is correct but Statement B is incorrect
4, Statement A is incorrect but Statement B is correct
Options :

71087023297. 1

71087023298, 2

71087023299, 3

71087023300. 4

Question Number : 6 Question Id : 7108705826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a global association of nations of the world to help cooperation
in international law, security, economic development and social equity?

1. United Nations Organization
2. International Monetary Fund
3. World Bank

4. World Health Organization
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Options :

71087023301. 1
71087023302. 2
71087023303. 3
71087023304. 4

Question Number : 7 Question Id : 7108705827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Under the Ganga Action Plan Phase Il, pollution abatement works are being taken up in how
many towns?

T 4

2. 65

3.52

4.69

Options :
71087023305. 1
71087023306. 2
71087023307. 3
71087023308. 4

Question Number : 8 Question Id : 7108705828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following statements is incorrect?

1. The highest number of pigs in the world are found in India

2. Utter Pradesh provides largest amount of pork

3. Assam has the largest number of pork producing pigs

4. Pork constitutes about 7.6% of the total meat produced in India

Options :
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71087023309. 1
71087023310. 2
THIS 70233113
71087023312. 4

Question Number : 9 Question Id : 7108705829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which type of N-fertilizer is suitable for water-logged soils?

1. Zinc Phosphate

2. Ammonium Sulphate
3. Calcium

4. Potassium Nitrate
Options :

71087023313. 1
71087023314. 2
71087023315.3
71087023316. 4

Question Number : 10 Question Id : 7108705830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The famous Bailadila range of hills in the Bastar district of Chhattisgarh is famous for its

1. Bauxite deposits

2. Manganese deposits

3. Copper deposits

4. High-grade haematite deposits
Options :

71087023317. 1
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71087023318. 2
71087023319. 3
71087023320. 4

Question Number : 11 Question Id : 7108705831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A farmer wishes to start a 100 sg. m rectangular vegetable garden. Since he has only 30m
barbed wire, he fences three sides of the garden letting his house compound wall act as the
fourth side fencing. What is the dimension of the garden?

1. 15 mx 6.67m
2.20mxs5m
3.30mx333m
440mx25m
Options :
71087023321. 1
71087023322. 2
71087023373, 3
71087023324. 4

Question Number : 12 Question Id : 7108705832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which one of the following industries, the consumption of natural rubber is the largest?

1. Auto tyres and tubes
2. Footwear

3. Dipped goods

4. Latex foam

Options :
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71087023325. 1
71087023326. 2
71087023327. 3
71087023328. 4

Question Number : 13 Question Id : 7108705833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following countries was the partner country of 34" Surajkund International
Crafts Fair held in Haryana?

1. China

2. Nepal

3. Bhutan

4, Uzbekistan
Options :
71087023329, 1
71087023330. 2
71087023331. 3
71087023332. 4

Question Number : 14 Question Id : 7108705834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Nobel laureate Abhijit Vinayak Banerjee was conferred the honorary Doctor of Letters (D. Litt.)
by which University?

1. University of Delhi

2. University of Kolkata

3. University of Mumbai

4. University of Hyderabad
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Options :

71087023333, 1
71087023334. 2
71087023335. 3
71087023336. 4

Question Number : 15 Question Id : 7108705835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Where is the headquarters of European Union?

1. Geneva, Switzerland
2. Washington D.C., USA
3. New York, US

4. Brussels, Belgium
Options :

71087023337. 1
71087023338. 2
71087023339. 3
71087023340. 4

Question Number : 16 Question Id : 7108705836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following would be deficient if one finds high somatic cell count in the cow's
milk?

1. Butterfat

2. Whey protein
3. Casein

4. Trace minerals
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Options :

71087023341. 1
71087023342. 2
71087023343 3
71087023344. 4

Question Number : 17 Question Id : 7108705837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Who was the first administrator-statesman to attempt planning as a means for economic
development?

1. C. Rajagopalachari

2. V. T. Krishnamachari

3. M. Viswesvarayya

4. Sir C. P. Ramaswami Aiyyar
Options :

71087023345. 1

71087023346. 2

71087023347. 3

71087023348. 4

Question Number : 18 Question Id : 7108705838 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Amazon rainforest span over nine countries. In August 2019, in which country did a deadly fire
broke out in the Amazon forest?

1. Brazil

2. Venezuela
3. Colombia
4. Argentina
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Options :

71087023349. 1
71087023350. 2
71087023351.3
71087023352. 4

Question Number : 19 Question Id : 7108705839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Economic liberalization in India started with

1. Sustainable changes in industrial licensing policy
2. The convertibility of the Indian Rupee

3. Significant reduction of tax rates

4. Changes in procedural formalities for FDI
Options :

71087023353. 1

71087023354. 2

71087023355. 3

71087023356. 4

Question Number : 20 Question Id : 7108705840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The term ‘Delimitation” which was in news recently is associated with which process?

1. Fixing the limit of Income tax

2. Fixing limits of Affordable housing

3. Fixing limits of Territorial constituencies
4. Fixing limits of Chairpersons salary
Options :

71087023357. 1
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71087023358. 2
71087023359. 3
71087023360. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 21 Question Id : 7108705841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Part B Core Community Science
710870146
2
Online
Mandatory
50
50
200
Yes
Yes
Yes
1
710870146
Yes

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

-
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Consumer education is the study of:

A. Discovering personal needs.

B. Being aware of consumer rights.

C. Knowing resources used for production.

D. Learning not to be persuaded.

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. A and D only

Options :

71087023361. 1
71087023362. 2
71087023363. 3
71087023364. 4

Question Number : 22 Question Id : 7108705842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The complimentary colours on the colour wheel of 'Prang System’ are:
A. Red and Yellow

B. Red and Green

C. Yellow and Purple

D. Yellow and Blue

E. Blue and Orange

Choose the correct answer from the options given below:

1. A, B, Conly
2. B, C, D only
3.B, C, Eonly
4.C, D, E only
Options :
71087023365. 1
71087023366. 2
71087023367. 3
71087023368. 4

Question Number : 23 Question Id : 7108705843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Speed of a motor-driven equipment is measured in

1. RPM

2. Horse Power
3. Kilo Watt hour
4. Volts

Options :

collegedunia:s

India’s largest Student Review Platform

~

T




71087023369. 1
71087023370. 2
71087023371. 3
71087023372. 4

Question Number : 24 Question Id : 7108705844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The dark colouration in aluminium vessels occurs due to its contact with:
A. Acidic Solutions

B. Alkaline Solutions

C. Hard Water

D. Oil

E. Dust

Choose the correct answer from the options given below:

1. A and B only
2. C and D only
3. B and C only
4. D and E only
Options :
71087023373. 1
71087023374. 2

71087023375. 3
71087023376. 4

Question Number : 25 Question Id : 7108705845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegedunlaa
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Correct Marks : 4 Wrong Marks : 1

Which one of the following is a consumer publication published by the Consumer Guidance
Society of India?

1. Aawaz

2. Sanskaar

3. Adhikaar

4, Keemat
Options :
71087023377. 1
71087023378. 2

71087023379. 3
71087023380. 4

Question Number : 26 Question Id : 7108705846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The marketing system that studies marketing data using statistical procedures and models

1. Internal Accounting System
2. Analytical Marketing System
3. Market Intelligence System
4. Market Monitoring System
Options :

71087023381. 1

71087023382. 2

71087023383. 3

71087023384. 4

Question Number : 27 Question Id : 7108705847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Limit of elbow flexion is

1. 90°

2. 110°

3. 130°

4. 150°
Options :
71087023385. 1
71087023386. 2
71087023387. 3
71087023388. 4

Question Number : 28 Question Id : 7108705848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Recommended height of the railing of the staircase is

1. 2 feet
2. 2-21-feet

3. 3 feet
4. 3 %feet

Options :

71087023389. 1
71087023390. 2
71087023391. 3
71087023392. 4

Question Number : 29 Question Id : 7108705849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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A step by step description of the method used in doing the work is called a

1. Pathway Chart
2. Process Chart
3. Motion Studies
4. Transportation
Options :
71087023393. 1
71087023394. 2
71087023395. 3
71087023396. 4

Question Number : 30 Question Id : 7108705850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The components of the larger environment of a family are:
A. Neighbourhood

B. Schools

C. Government

D. Local Parks

E. Solar System

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand E only
4. D and E only
Options :

collegedunia:s

India’s largest Student Review Platform

~

T




71087023397. 1
71087023398. 2
71087023399. 3
71087023400. 4

Question Number : 31 Question Id : 7108705851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In a dress, design rhythm CANNOT be produced by

1. Alternation

2. Concentration
3. Radiation

4. Progression
Options :
71087023401. 1
71087023402. 2
71087023403. 3
71087023404. 4

Question Number : 32 Question Id : 7108705852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Sanforization falls under which category of finishing processes applied on fabrics?

1. Chemical

2. Mechanical
3. Aesthetic
4. Protection
Options :
71087023405. 1
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71087023406. 2
71087023407. 3
71087023408. 4

Question Number : 33 Question Id : 7108705853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT a ply yarn?

1. Cord

2. Complex

3. Novelty

4. Filament
Options :
710870234009. 1
71087023410. 2
71087023411. 3
71087023412. 4

Question Number : 34 Question Id : 7108705854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is an example of a warp knit?

1. Tricot

2. Jersey

3. Purl

4. Interlock
Options :
71087023413. 1

71087023414. 2
71087023415. 3
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71087023416. 4

Question Number : 35 Question Id : 7108705855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a regenerated protein fiber?

1. Rayon

2. Lyocell

3. Azlon

4. Cuprammonium
Options :
71087023417. 1
71087023418. 2
71087023419. 3
71087023420. 4

Question Number : 36 Question Id : 7108705856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A horizontal off shade band found across the knitted fabric can be due to:
A. Defect in yarn

B. Uneven tension

C. Stock dyeing

D. Low thread count

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
71087023421. 1
71087023422, 2
71087023423. 3
71087023424. 4

Question Number : 37 Question Id : 7108705857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Vertical lines in a garment can be incorporated as:

A. Flap pockets

B. Knife pleats

C. Boat neckline

D. Pointed collars

E Single columns of colour

Choose the correct answer from the options given below:

1. A B, D only
2.C, E Donly
3.B,D, Eonly
4. A C Donly
Options :

71087023425. 1
71087023426. 2
71087023427. 3
71087023428. 4

Question Number : 38 Question Id : 7108705858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two Statements: one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Disperse dyes are most suitable for transfer printing

Reason R: Disperse dyes sublime on heating

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087023429. 1

71087023430. 2

71087023431. 3

71087023432. 4

Question Number : 39 Question Id : 7108705859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:

Statement I: In a skirt, diagonal wrinkles radiating towards the side seams and the center front
indicate prominent hip bones

Statement II: The upper tips of the pelvic girdle are less than average

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

71087023433. 1

71087023434, 2

71087023435. 3

71087023436. 4

Question Number : 40 Question Id : 7108705860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 1l

List | List 11
Seams Characteristics/Purpose
A. Fused .. Used for suede/leather and vinyl
B. French
Il. Zig Zag or overedge stitch
C. Hairline lll. Outerwear of transparent fabric
IV. Formed by a melting process
D. Glued which joins the seamline of

thermoplastic fabric

Choose the correct answer from the options given below:

LA-ILB-NV.C-1,D-H
2A-IV,B-IIILC-1I,D-1I
3.A-IV,B-IILC-I,D-II
4 A-1,B-NILC-I,D-IV
Options :

71087023437. 1
71087023438. 2
71087023439. 3
71087023440. 4

Question Number : 41 Question Id : 7108705861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Energy yielding foods include:

A. Cereals

B. Fruits

C. Nuts and oilseeds

D. Vegetables

E. Fish

Choose the most appropriate answer from the options given below:

1. A and E only
2. Cand E only
3. A and C only
4. B and D only

Options :

71087023441. 1
71087023442, 2
71087023443. 3
71087023444. 4

Question Number : 42 Question Id : 7108705862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements:
Statement |: Sprouting or germination helps to enhance the starch digestibility

Statement lI: Fermented foods are generally less nutritious than theri unfermented
counterparts

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

71087023445. 1

71087023446. 2

71087023447. 3

71087023448. 4

Question Number : 43 Question Id : 7108705863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 1l

List | List Il

A. Preservative |. Adulterant

B. Metanil yellow Il. Groundnuts

C. Aflatoxin lll. Sodium benzoate
D. Sensory evaluation IV. Texture

Choose the correct answer from the options given below:

1LA-ILB-IL,C-IV,D-I
2A-1,B-1IL,C-II,D-1IV
3 A-ILB-L,LC-I,D-IV
4 A-ILB-1,C-IV,D-1I
Options :

71087023449 1
71087023450. 2
71087023451. 3
71087023452, 4

Question Number : 44 Question Id : 7108705864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Idli, Bread and Dhokla are examples of which of the following types of foods?

1. Germinated foods
2. Sprouted foods

3. Marinated foods
4. Fermented foods
Options :
71087023453, 1
71087023454, 2
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71087023455. 3
71087023456. 4

Question Number : 45 Question Id : 7108705865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT an intentional adulterant?

1. Water

2. Starch

3. Removal of fat
4, Pesticides
Options :
71087023457. 1
71087023458. 2
71087023459. 3
71087023460. 4

Question Number : 46 Question Id : 7108705866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following nutrients enhances the bioavailability of iron?

1. Ascorbic acid
2. Thiamine

3. Vitamin D

4. Retinol
Options :
71087023461. 1
71087023462. 2
71087023463. 3
71087023464. 4
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Question Number : 47 Question Id : 7108705867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The height falling much short of the reference height of a person (of a given age) is known as

1. Underweight
2. Stunting

3. Wasting

4. Qver nutrition
Options :
71087023465. 1
71087023466. 2
71087023467. 3
71087023468. 4

Question Number : 48 Question Id : 7108705868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Major nutrient involved in bone and tooth formation in humans is

1. Magnesium
2. Selenium

3. Chromium
4, Calcium

Options :

71087023469. 1
71087023470. 2
71087023471. 3
71087023472. 4
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Question Number : 49 Question Id : 7108705869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The weight of Reference Indian Women in the age range of 18-29 years should be

1. 55 kg
2. 60 kg
3. 65 kg
4.62 kg
Options :
71087023473. 1
71087023474. 2
71087023475. 3
71087023476. 4

Question Number : 50 Question Id : 7108705870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A: In jaundice, yellow discolouration of the skin occurs
Reason R: Damage to liver cells leads to an increase in bilirubin
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087023477. 1
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71087023478. 2
71087023479. 3
71087023480. 4

Question Number : 51 Question Id : 7108705871 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The age of viability for the unborn fetus is reached in

1. First trimester

2. Beginning of the second trimester
3. The third trimester

4. Germinal period

Options :

71087023481. 1

71087023482. 2

71087023483. 3

71087023484. 4

Question Number : 52 Question Id : 7108705872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ten year old Reshma, is in the stage of

1. Early childhood
2. Middle childhood
3. Late childhood

4. Early adolescence
Options :
71087023485. 1

71087023486. 2
71087023487. 3
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71087023488. 4

Question Number : 53 Question Id : 7108705873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Families must understand that body image is an important component of the adolescent's

1. Sense of identity
2. Egocentrism

3. Formal operations
4. Family image
Options :
71087023489. 1
71087023490. 2
71087023491. 3
71087023492. 4

Question Number : 54 Question Id : 7108705874 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following best describes assimilation?

1. Existing schemes of thought

2. Test of memory

3. Addition of new information to the existing among children
4. Parental intervention

Options :

71087023493 1

71087023494. 2

71087023495. 3
71087023496. 4
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Question Number : 55 Question Id : 7108705875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Children are able to grasp the principle of conservation at which stage of development?

1. Sensorimotor thought

2. Preoperational thought

3. Concrete operational thought
4, Adulthood

Options :

71087023497. 1

71087023498. 2

71087023499. 3

71087023500. 4

Question Number : 56 Question Id : 7108705876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Identify the activities from the following list, which promote pre-writing skills in children.
A. Running and jumping

B. Threading beads

C. Cutting pasting

D. Throw and catch

Choose the correct answer from the options given below:

1. A and B only
2. Cand D only
3. B and C only
4. A and D only
Options :
71087023501. 1
71087023502. 2
71087023503. 3
71087023504. 4

Question Number : 57 Question Id : 7108705877 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following are the rights of the children as stated in the UNCRC?
A. Right to Participation

B. Right to Development

C. Right to Exploration

D. Right to Travel

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. A and C only
4. A and D only
Options :
71087023505. 1
71087023506. 2
71087023507. 3
71087023508. 4

Question Number : 58 Question Id : 7108705878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements: one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A: A premature child tends to make faster developmental strides throughout life
compared to those born at full term

Reason R: Parental warmth can lead to positive gains for children who are born prematurely
In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is Not the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

710870235009. 1

71087023510. 2

71087023511. 3

71087023512. 4

Question Number : 59 Question Id : 7108705879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the life cycle tasks of Freud's Theory of Psycho-sexual Development in chronological
order

A. Children are learning bowel control

B. Id impulses transfer to the genitals

C. Sexual instincts die down

D. Ego directs sucking activities to breast/bottle

E. Sexual impulses reappear

Choose the correct answer from the options given below:

1.A D ECB
2.A, DB CE
3.D,AEECB
4 D,A B CE
Options :

71087023513. 1
71087023514. 2
71087023515. 3
71087023516. 4

Question Number : 60 Question Id : 7108705880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange these motor skills in chronological order of occurrence
A. Holds head erect and steady

B. Rolls from side to back

C. When prone, lifts self by arms

D. Rolls from back to the side

Choose the correct answer from the options given below:

1.A,CB D
2.C,A DB
3A,CD,B

4 C,B,AD
Options :
71087023517. 1
71087023518. 2
71087023519. 3
71087023520. 4

Question Number : 61 Question Id : 7108705881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Extension aims at bringing about change in

1. Knowledge only
2. Attitude only

3. Skills only

4. All the above

Options :
71087023521. 1
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71087023522, 2
71087023523. 3
71087023524. 4

Question Number : 62 Question Id : 7108705882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Most modern media of communication is

1. Puppets

2. Folk story telling
3. Television

4. Slide shows
Options :
T1087023525.1
71087023526. 2
71087023527. 3
71087023528. 4

Question Number : 63 Question Id : 7108705883 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The maximum number of flashcards to be used for one talk is

1. 10-12
2.12-14
3. 14-16
4. 16-18
Options :
71087023529. 1

71087023530. 2
71087023531. 3
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71087023532. 4

Question Number : 64 Question Id : 7108705884 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A sound extension program is based upon which one of the following principles?

1. Analysis of the problem
2. Prioritizing needs

3. Determining objectives
4. All the above

Options :

71087023533. 1
71087023534. 2
71087023535. 3
71087023536. 4

Question Number : 65 Question Id : 7108705885 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The State Agricultural University in India which is considered to have ushered the Green
Revolution in the country is

1. GBPUA & T, Pantnagar
2. HAU, Hissar

3. PAU, Ludhiana

4. APAU, Hyderabad
Options :

71087023537. 1
71087023538. 2
71087023539. 3
71087023540. 4
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Question Number : 66 Question Id : 7108705886 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The apex body for Agricultural research, teaching and extension in the country is

1. ATIC
2. ICAR
3. KVK
4. SAU

Options :

71087023541. 1
71087023542. 2
71087023543. 3
71087023544. 4

Question Number : 67 Question Id : 7108705887 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The purpose of feeding data in an excel sheet is

1. Analysis of data
2. Sorting of data
3. Preparing graphs
4. All the above
Options :
71087023545. 1
71087023546. 2
71087023547. 3
71087023548. 4
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Question Number : 68 Question Id : 7108705888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Place where the farmers can directly sell their produce to consumers

1. STEP

2. Apni Mandi

3. Chaupal

4. Mahila-E-Haat

Options :

71087023549. 1
71087023550. 2
71087023551. 3
71087023552. 4

Question Number : 69 Question Id : 7108705889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A program with a focus on women development

1. JRY

2. TRYSEM

3. DWCRA

4. IRDP
Options :
71087023553. 1
71087023554. 2
71087023555.3
71087023556. 4

Question Number : 70 Question Id : 7108705890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

The process through which innovation spreads to the members of the social system is

1. Innovation decision
2. Communication

3. Adoption

4. Diffusion

Options :
71087023557. 1
71087023558, 2
71087023559. 3
71087023560. 4

Part C Human Development and Family Studies

Section Id : 710870147
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870147
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 7108705891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

gcollegeduniaa

India’s largest Student Review Platform



Beginning with the implanting of the zygote on the wall of the uterus is the

1. Germinal stage
2. Fetal stage

3. 3™ to 5" week
4. Conception
Options :
71087023561. 1
71087023562. 2
71087023563. 3
71087023564. 4

Question Number : 72 Question Id : 7108705892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cultural practices are defined by

1. Socialization for behavior patterns of a society
2. People’s occupation and values

3. Enforced rules by parents

4. Political movements

Options :

71087023565. 1

71087023566. 2

71087023567. 3
71087023568. 4

Question Number : 73 Question Id : 7108705893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Counseling is a process where the counselor

1. Gives general advice

2. Respects the trust of the counselee
3. Talks about skill-building

4. Forces change of behaviour
Options :

71087023569. 1

71087023570. 2

71087023571. 3

71087023572. 4

Question Number : 74 Question Id : 7108705894 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Constitution of India has provisions for addressing social plurality in educational programs
through

1. Education during infancy

2. Incentives like housing for all

3. Language and economic diversity
4. Social security for parents
Options :

71087023573. 1

71087023574. 2

71087023575. 3

71087023576. 4

Question Number : 75 Question Id : 7108705895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Early childhood curriculum is based on the principle that children learn

1. When they are able to safely explore and experiment
2. In open spaces by running

3. All the time

4. By continuous instruction

Options :

TL08T023577. 1

71087023578. 2

71087023579. 3

71087023580. 4

Question Number : 76 Question Id : 7108705896 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Sequential patterns of change governed by genetic programming is known as

1. Environmental action
2. Cultural trends

3. Maturation

4, Socialization

Options :

71087023581. 1
71087023582. 2

71087023583. 3
71087023584. 4

Question Number : 77 Question Id : 7108705897 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

L ]
gcollegedunlaa
India’s largest Student Review Platform

T



Telegraphic speech is generally associated with

1. Secret language used by school children

2. Two or three words used by infants with basics of grammar
3. Adolescents’ abbreviated talk

4. Another term for holophrases

Options :

71087023585. 1

71087023586. 2

71087023587. 3

71087023588. 4

Question Number : 78 Question Id : 7108705898 Question Type : MCQ Option Shuftling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following legislations facilitate(s) the adoption of abandoned children?

1. RTI and RTE

2. HAMA and JJA
3. POCSO

4. Child Labour Act
Options :
71087023589. 1
71087023590. 2

71087023591. 3
71087023592. 4

Question Number : 79 Question Id : 7108705899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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You have to make a phone call and you ask your friend for the phone number.
Which type of memory can help you remember the number for a short period?

1. Long-term memory
2. Short-term memory
3. Sensory memory

4. Visual memory
Options :

71087023593. 1
71087023594. 2
71087023595. 3
71087023596. 4

Question Number : 80 Question Id : 7108705900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Freud's Model of Personality Structure consists of

1. Self esteem, Superego and Id

2. |d, Ego and Superego

3. Ego, Enlightenment and Spirituality
4. Ego, Crisis and Resolve

Options :

71087023597. 1

71087023598. 2

71087023599. 3

71087023600. 4

Question Number : 81 Question Id : 7108705901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Leher, who is 49 years old, is irritable, gets hot flushes and often has mood swings. She is
going through

1. Depression as her children are leaving home
2. Menopausal phase

3. Changes due to the onset of menarche

4. Reproductive coping mechanisms

Options :

71087023601. 1

71087023602. 2

71087023603. 3

71087023604. 4

Question Number : 82 Question Id : 7108705902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following features is NOT a characteristic of 1-2-year-old children?

1. Object permanence
2. Separation anxiety

3. Metaphorical thinking
4. Stranger anxiety
Options :

71087023605. 1
71087023606. 2
71087023607. 3
71087023608. 4

Question Number : 83 Question Id : 7108705903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following is NOT required for understanding the elements of reproductive
health?

1. Responsible and healthy sexual behavior
2. Interventions for safe motherhood

3. Essential immunization for all

4. Prevention of unwanted pregnancies
Options :

71087023609. 1

71087023610. 2

71087023611. 3

71087023612. 4

Question Number : 84 Question Id : 7108705904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Both teachers and parents stand to gain by knowledge of Human Development as

1. It helps in making children disciplined

2. The examination result is improved

3. It becomes a convenient mode for motivating children
4. It helps them in understanding childhood and behaviour
Options :

71087023613. 1

71087023614. 2

71087023615. 3

71087023616. 4

Question Number : 85 Question Id : 7108705905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the following would involve a cognitive process?

1. Hormonal changes at puberty

2. An infant responding to her mother's touch with a smile
3. An elderly couple’s affection for each other

4. Putting together a two-word sentence

Options :

71087023617. 1

71087023618. 2

71087023619. 3

71087023620. 4

Question Number : 86 Question Id : 7108705906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Nayana asks her teacher to please pass her the scissors. At home, she demands that her
brother hands them to her immediately. Nayana is displaying knowledge of

1. Semantics

2. Syntax

3. Pragmatics

4. Overregularization
Options :
71087023621. 1
71087023622. 2
71087023623. 3
71087023624. 4

Question Number : 87 Question Id : 7108705907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A young animal attaches itself to the first moving object it sees. This process is called

1. Plasticity

2. Imprinting

3. Elasticity

4. Critical Period
Options :
71087023625. 1
71087023626. 2
71087023627. 3
71087023628. 4

Question Number : 88 Question Id : 7108705908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A specific time when a given process or its absence has a specific impact on development is
the

1. Critical period

2. Dangerous period
3. Delicate period

4. Imprinting period
Options :
71087023629. 1
71087023630. 2
71087023631. 3
71087023632. 4

Question Number : 89 Question Id : 7108705909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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The fundamental rule of psychoanalysis is that the patient is to say whatever comes into her
mind, no matter how embarrassing or trivial it might appear to be. This best describes

1. Autonomy

2. Free association
3. Oedipus complex
4. Repression
Options :
71087023633. 1
71087023634. 2
71087023635. 3
71087023636. 4

Question Number : 90 Question Id : 7108705910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Case studies are in-depth study of individuals, groups or institutions and their data is based on

1. Multiple methods

2. Observations

3. Only interviews

4. Cross sectional design
Options :

71087023637. 1
71087023638. 2
71087023639. 3
71087023640. 4

Question Number : 91 Question Id : 7108705911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Adequate nutrition and health care are important influences on growth and development.
These are

1. Mechanics over pragmatics
2. Storm or stress

3. Continuity and consistency
4. Environmental factors
Options :

71087023641. 1

71087023642. 2

71087023643. 3

71087023644. 4

Question Number : 92 Question Id : 7108705912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following represents the use of Behaviorist theory in a classroom?

1. Use of activities

2. Use of teaching-learning material
3. Use of praise

4. Use of assessment

Options :

71087023645. 1

71087023646. 2

71087023647. 3

71087023648. 4

Question Number : 93 Question Id : 7108705913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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An 18-month-old infant who wants a doll simply says “doll”. This is an example of a/an

1. Heuristic

2. Schema

3. Overgeneralization
4. Holophrase
Options :
71087023649. 1
71087023650. 2
71087023651. 3
71087023652. 4

Question Number : 94 Question Id : 7108705914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Choose activities promoting physical and motor skills in children

1. Outdoor play; playing with beads and paper tearing
2. Reading

3. Mediation and regulation

4, Stories and drama

Options :

71087023653. 1

71087023654. 2

71087023655. 3

71087023656. 4

Question Number : 95 Question Id : 7108705915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Parents of children with disabilities need to be informed about specific facilities available such
as

1. Free clothes

2. State reservation and facilities for inclusive education
3. Television shows

4. Disability exhibitions

Options :

71087023657. 1

71087023658. 2

71087023659. 3

71087023660. 4

Question Number : 96 Question Id : 7108705916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Broadly speaking, during infancy play develops

A. From oral to manual manipulation
B. From social to individual

C. From trial and error to intention
D. From individual to competition

1. A and B only
2. A and C only
3. B and D only
4. C and D only
Options :
71087023661. 1
71087023662. 2
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71087023663. 3
71087023664. 4

Question Number : 97 Question Id : 7108705917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Teratogenic factors that may lead to mental retardation in the unborn child, are often a result
of

A. Stress

B. Alcohol

C. Smoking

D.Travel

Choose the correct answer from the options given below:

1. A and D only
2. A and B only
3. B and C only
4. C and D only
Options :
71087023665. 1
71087023666. 2
71087023667. 3
71087023668. 4

Question Number : 98 Question Id : 7108705918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following terms are related to mental health?
A. Depression

B. Hyperactive

C. Grandiosity

D. Depletion

E. Delusion and hallucination

Choose the correct answer from the options given below:

1. A and E only
2. B and D only
3. A and C only
4. B and E only
Options :
71087023669. 1
71087023670. 2
71087023671. 3
71087023672. 4

Question Number : 99 Question Id : 7108705919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which of the following concepts refer to learning disabilities?
A. Overgeneralization and over regularization

B. Limitations of sequential thinking

C. Comprehension errors

D. Semantics & syntax

Choose the correct answer from the options given below:

1. A and B only
2. A and D only
3. A and C only
4. B and C only
Options :
71087023673. 1
71087023674. 2
71087023675. 3
71087023676. 4

Question Number : 100 Question Id : 7108705920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Choose the correct pairs of education pioneers

A. Krishnamurty and Special schools

B. Montessori and Sensory apparatus

C. Navodaya and Books

D. Froebel and Kindergarten

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. C and D only
Options :
71087023677. 1
71087023678. 2
71087023679. 3
71087023680. 4

Question Number : 101 Question Id : 7108705921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Consolidation and complexity of skills are largely achieved during which of the following
phases?

A. Preschool years

B. Secondary school years

C. Middle childhood

D. School-age

Choose the correct answer from the options given below:

1. Cand D only
2. A and B only
3. B and C only
4. A and D only
Options :
71087023681. 1
71087023682. 2
71087023683. 3
71087023684. 4

Question Number : 102 Question Id : 7108705922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Creativity is the ability to produce work that is

A. Original and imaginative

B. Novel and different

C. Copyright protected

D. Outcome and divergent thinking

E. Compulsive and repetitive

Choose the correct answer from the options given below

1. A, B and C only
2. B, C and D only
3. A, B and D only
4.C, D and E only
Options :
71087023685. 1
71087023686. 2
71087023687. 3
71087023688. 4

Question Number : 103 Question Id : 7108705923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labeled as Assertion A and the other is labeled as

Reason R

Assertion A: A class VI student who makes errors in place value while doing calculations may
be suffering from learning disabilities

Reason R: Some children have difficulty in remembering the order of numbers or words and
tend to experience learning difficulty as they reverse digits and letters

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087023689. 1

71087023690. 2

71087023691. 3

71087023692. 4

Question Number : 104 Question Id : 7108705924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labeled as Assertion A and the other is labeled as
Reason R

Assertion A: Children’s development is affected by factors embedded in layers of socio-
ecological settings

Reason R: Children grow up in families that are part of neighbourhoods, belong to different
communities influenced by cultural factors, all defining social ecology

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087023693. 1

71087023694. 2

71087023695. 3

71087023696. 4

Question Number : 105 Question Id : 71087035925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labeled as Assertion A and the other is labeled as
Reason R

Assertion A: Adolescents who receive less guidance especially with reference to the regulation
of aggression at school are less likely to be responsible or independent

Reason R : Adolescents have to learn to make their own decisions as parents belong to
another generation

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087023697. 1

71087023698. 2

71087023699. 3

71087023700. 4

Question Number : 106 Question Id : 7108705926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

~

T

collegedunia:

India’s largest Student Review Platform



Given below are two statements, one is labeled as Assertion A and the other is labeled as
Reason R

Assertion A: Due to poverty, families place little priority for child care as they are surviving
under difficult circumstances

Reason R: Babies are happy when there is both, continuity and attachment with caregivers,
hence there is the state or voluntary support for children in families who may face adversity

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087023701. 1

71087023702 2

71087023703. 3

71087023704. 4

Question Number : 107 Question Id : 7108705927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: A four-month baby squeals when the mother hides and shows her face with her
hands in rapid succession, but looks away when the mother does not show her face for a
longer duration

Reason R: Babies generally do not like slow games as they get distracted

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087023705. 1

71087023706. 2

71087023707. 3

71087023708. 4

Question Number : 108 Question Id : 7108705928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Children learn the language of the environment and once immersed in the
receptive language will speak it irrespective of nationality

Reason R: All children have a language acquisition device and language learning is facilitated
by responsive care and exposure to a rich linguistic environment

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087023709. 1

71087023710. 2

71087023711. 3

71087023712. 4

Question Number : 109 Question Id : 7108705929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il

Cases Laws and Programmes

. Integrated Child Development
A. Sexual abuse in school Services Scheme

B. A child steals from a shop and is . ,
) |l. Right to Education Act
caught by police

C. Immunization and prenatal care Il JJ Act

, IV. Protection of Children from
D. Children between the age of 6 to 14 years
Sexual Offences Act

V. Maternity Benefits Act

Choose the correct answer from the options given below:

LA=N,B=-IN.C-1, D=1
2ZA-LB-LC-V,D-I
3.3A-V,B-IV,C-Ill,D-1I
4 A-IV,B-IILC-I,D-V
Options :

71087023713. 1
71087023714. 2
71087023715.3
71087023716. 4

Question Number : 110 Question Id : 7108705930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List 1l

List | List Il

Books Authors

A Interpretations of Dreams . Jean Piaget

B. Self Analysis Il. B F Skinner

C. The Origins of Intelligence in Children l1l. Sigmund Freud

D. About Behaviourism IV. Karen Horney
V. Carl Jung

Choose the correct answer from the options given below:

1LA-V,B-ILC-1,D-V
2A-NI,B-IV,C-I,D-1I
3A-V,B-W,C-II,D -]
4 A-IV,B-IILC-I,D-V
Options :

71087023717. 1
71087023718. 2
71087023719. 3
71087023720. 4

Question Number : 111 Question Id : 7108705931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List |

List Il

A. Depression

l. Multiple intelligences

B. Micro, Meso, Exo and Macro levels

Il. Social mediation and inner thought

C. Zone of proximal development

1. Social systems and ecological
model

D. Skills in different areas

V. Trauma, hidden fears and failure

Choose the correct answer from the options given below:

1.LA-IV,B-IILC-1,D-1
2A-lILB-IV,C-1,D-1
3.A-ILB-W,C-Ill,D-1
4 A-IV,B-IILC-1I,D-1
Options :

71087023721. 1
71087023722. 2
71087023723.3
71087023724. 4

Question Number : 112 Question Id : 7108705932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List |

List Il

Early Childhood Thinkers

Areas of work

A. Gijubhai Badheka

. Early childhood at Kosbad Hills

B. Froebel

Il. Ideal Student- Gujarati educational
literature

C. Rousseau

1. Magical Child

D. Tarabai Modak

IV. Kindergarten-Germany

V. Philosophy of Education

Choose the correct answer from the options given below:

1.A-IV,B-IILC-1,D-V
2A-NILB-IV,C-1,D-l
3.A-ILB-IV,C-V,D-I
4 A-IV,B-1II,C-V,D-1I
Options :

71087023725. 1
71087023726. 2
71087023727. 3
71087023728. 4

Question Number : 113 Question Id : 7108705933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List Il

A. Chromosomal anomaly l. Autism Spectrum

B. Developmental variation & absence of eye contact|ll. Multiple Sclerosis

C. Sudden mood swings of extreme nature lll. Down’s Syndrome/ Turners syndrome

D. Autoimmune disorder IV. Schizophrenia

Choose the correct answer from the options given below:

1LA-IV,B-IILC-1,D-1
2A-IlILB-I,C-IV,D-1
3.A-ILB-WN,C-lILD-|
4 A-IV,B-I,C-1Il,D-1l
Options :

71087023729. 1
71087023730. 2
71087023731. 3
71087023732. 4

Question Number : 114 Question Id : 7108705934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Match List | with List Il

List | List 1l

Tasks Stages

A. Deferred Imitation l. Concrete operations understanding
B. Conservation Il. Formal operational thought

C. Transductive reasoning |lll. Sensory-motor achievement

D. Personal fable IV. Pre-operational thought

Choose the correct answer from the options given below:

1LA-WV,B-IL,C-|,D-1I
2Z2A-ILB-I,C-IV,D-II
3 A-1,B-NM,C-HLD -1
4 A-IV,B-1IILC-1II,D-1

Options :

71087023733. 1
71087023734. 2
71087023735. 3
71087023736. 4

Question Number : 115 Question Id : 7108705935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the following contexts as per the order of significance, in the ecological frame

1. High profile professional interactional demands on parents
2. Caregiving practices and neighbourhood

3. Customs, laws and values

4. Socio-political child

5. Three-year-old child in double income family

EEB,CD A
ERACD
B,EADC
B.E D AC
Options :

71087023737. 1
71087023738. 2
71087023739. 3
71087023740. 4

> woNos

Question Number : 116 Question Id : 7108705936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The birth of a child with disabilities often produces grief among parents and families which

transforms slowly to optimism. Parental reactions may take a set pattern. Arrange in order the
sequence of parental reactions.

A. Denial
B. Anger
C. Bargaining
D. Depression
E. Acceptance

Choose the correct answer from the options given below

1.A D ECEB
2.A,D,BCE
3.0,AECEB
4.D,A B CE
Options :

71087023741. 1
71087023742. 2
71087023743. 3
71087023744. 4

Question Number : 117 Question Id : 7108705937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange the psychosocial processes according to the sequence proposed by Erikson
A. Autonomy vs shame and doubt

B. Intimacy vs isolation

C. Trust vs mistrust

D. Identity vs role confusion

E. Initiative vs guilt

Choose the correct answer from the options given below:

1.CABD,E
2CB,EDA
3.CCAEDEB
4.C,B,EAD
Options :

71087023745. 1
71087023746. 2
71087023747. 3
71087023748. 4

Question Number : 118 Question Id : 7108705938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange in order, the development of play among children
A. Parallel play

B. Associative play

C. Solitary play

D. Co-operative play

Choose the correct answer from the options given below:

1.C,ABD
2.08AD
3ACEHED
48, C, DA

Options :

71087023749. 1
71087023750. 2
71087023751. 3
71087023752. 4

Question Number : 119 Question Id : 7108705939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Arrange in sequence, the developmental milestones associated with infancy
A. Social smile

B. Sits without support

C. Turns from supine to prone

D. Pulls to standing

E. Climbs stairs

Choose the correct answer from the options given below

1.A,C D, BE
2C D BAE
3.A,C,B DE
4 A, CD,BE
Options :

71087023753. 1
71087023754. 2
71087023755. 3
71087023756. 4

Question Number : 120 Question Id : 7108705940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Parents need to play with and talk to their children such that, they encourage the sequence of
language skills development in children. Arrange the useful inputs in the correct order

A. Responding to holophrases

B. Rhymes to encourage new words and sentences

C. Talking to them for more telegraphic speech

D. Sound-play for babbling

E. Listening to their story making and complex sentences
Choose the correct answer from the options given below

1.D,A B EC
2.D,C, A BE
3.D,A.C,BE
4 A,DC B, E
Options :
71087023757. 1
71087023758. 2
71087023759. 3
71087023760. 4
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